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Drawing a state transition table

There are two ways to draw a state transition table:

Method 1:  
Put each state into a different row. Put each possible input as a column heading. In the row/column intersection, put what happens if we are in a certain state and a certain input is provided. So, in the example below, if we are in State A and the input is 0, the machine will move to State B.

	State/Input
	0
	1

	A
	B
	C

	B
	C
	B

	C
	C
	B


Method 2: 
The column headings are Current State, Input, Next State (and optionally Output if output is produced). Each possibility of current state, possible input and subsequent state is put into a different row. The example below shows exactly the same scenario as the table above, but using Method 2. When the current state is A and a 0 is input, the resultant state is B. 

	Current State
	Input
	Next State

	A
	0
	B

	A
	1
	C

	B
	0
	C

	B
	1
	B

	C
	0
	C

	C
	1
	B


This can be represented as a state transition diagram as follows: 
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Each state should be drawn as a separate circle. Each possible input can be drawn as a connecting arrow. For example, State A and State B should be connecting with an arrow labelled 0 and going in the direction from A to B.
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